Year 9 TERM 2

Knowledge Organiser. Year 9: Pop Art and Vanitas
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In this unit of work, we look at 2 Art movements: Pop Art, the American Art
movement of 1960s New York, and Vanitas — a still life movement starting in
the 17™ century. Both art styles are very different, but give you a chance to
experiment with various Art styles and techniques.

What will you learn? What skills will you learn/develop?

(overview of knowledge) * Advanced colour theory
Students will be revisiting vital skills | ©  Tonal values

covered in Y7 and Y8, these skillswill | «  Painting/oil pastel/printing
be important should they choose to *  Analysis at GCSE Q

take Art at GCSE. They will be ¢ ARREROHAEGESE
researching, experimenting, drawing

and designing their own artwork.

Support/Challenge:
https://www.bbc.co.uk/bitesize/subjects/z6hs34{
https://wwuw.tate.org.uk/kids/explore/what-is/pop-art
https://www.tate.org.uk/art/art-terms/v/vanitas

Below are some key words we will be using in the classroom:

COLOUR TONE LINE FORM
DRAWING SKILLS TECHNIQUE ANNOTATE
HARMONIOUS COMPLEMENTARY PRIMARY DETAIL
TERTIARY WATERCOLOUR MIXING PAINT
COLLAGE OBSERVE ANNOTATE ANALYSE
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Year 9 TERM 2 or 3 ‘0‘

Year 9 Algorithms

What you are going to learn: A problem-solving approach that uses techniques from
computer science but that can be used everywhere.

Key Words:

Algorithm: a step by step sequence of instructions that can be followed to complete a task.

Decision

Abstraction : removing unnecessary detail

Decomposition: breaking down a problem into sub-problems

Process

Example progrom written in Pseudocode:

OUTPUT “What is your name?’

INPUT user inputs their name
STORE the user’s input in the name variable
OUTPUT ‘Hello' + name
OUTPUT "How old are you?"
INPUT user inputs their age
STORE the user's input in the age variable
IF age >= 7@ THEN

OUTPUT 'You are aged to perfection!’
ELSE

OUTPUT "You are a spring chicken!”
Searchingand sorting:

:
]
Linear Search —looks at each record at a time
Binary Search — keeps halving the list until a match is found

Bubble Sort — keeps moving the highestvalue up the list until all in order.

Merge Sort — splits and then puts data back together in twos, fours and then a whole.

Resourcesand Challenges:

Sorting Algorithms:: https://www.toptal.com/developers/sorting-algorithms
BBC Bytesize: https://www.bbc.co.uk/bitesize/topics/z7d634j
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Year 9 TERM 2 and 3

Year 9 More Python

Algorithm Set of instructions or rules that need to be followed in
order to perform calculations or to solve a problem.
You will learn how to write computer programs in Python using avariety of Sequence The set of instructions or rules that an algorithm uses
techniques including user-input, variables using different datatypes, using Python have to be in the right order.
it-elif-else statements and comparing values. Throughout the unit you will become
familiar with different types of errors and how to correct them. Data type A data type is used to identify data that has common
characteristics and purpose. Python has four data types:
Example code string (text), integers (whole numbers), floats [ decimal
numbers) and Boolean (either a “true” value or a “false”
The code below inputs a number and stores it in a variable called “fav_num®. If the valuej.
numbgr is7 it_will_ prin_‘t "(;:iDDd g!..lesi!", if it is less than 7 it will print “Too low!™ and for variable Mame given to an item of data that is stored in memory
R rt il p_r|nt —— h|gh! - location while your Python program is running. WVariables
fav_num = int(input("Pick a number between 1 & 10...7)) enable you to input data from the keyboard and to
_ change the data
if(fav_num == 7):
print("Good guess!") Condition/ The name given to Python's if-elif-else statement that is
glif(fav num < 7): Selection used to decide which path a program will take. If a
print-{'*Too low! ™) condition is ‘true’ then Python will choose to run specific
else: lines of code, but if false Python will choose to run
print("Too high!"}) different lines of code.
. g ~ onerato Constant Named location in memory that does not change during
the execution of the Python program
= Equal to

1= Mot equal to

Syntax Error

Mistake in your Python program that prevents it from
running (executing). Syntax errors are like spelling and
grammar errors.

Logical error

Occurs when the program runs without error but
produces an incorrect result.

= Greater than

< Less than

»= Greater than or equal to
<= Less than or equal to

Learn Python using these websites:
=  www.w3schools.com/python/
= www.codecademy.com/flearnflearn-python
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from turtle import *

color(‘red’, ‘yellow’)
begin_fil1()
while True:
forward (280 )
left(170)
if abs{pos()) < 1:

done()

break
end_+4i11()




Year 9 TERM 2 or 3 \Ol

Year 9 Business Knowledge Organiser
Aim of the unit

The aim of this unit is to provide a foundational knowledge of business. Students will learn the basic
concepts in business, which will help them in making informed decision when choosing business as one of
the optional subjects. Overview

Students will be finding out about different business ownership concepts such as,

sole trader, partnership, franchise. They will also improve their problem-solving skill Key vocabulary

by explaining different cost and calculate fixed, variable cost, revenue and profit. Sole trader — one person own and run
PROS CONS Students will develop market segmentation skill and be able to produce a customer  business, butcan employ few staff to help.
Mlpowsisgentoone f Krofile. In addition, they will assess different pricing strategies used for effective Partnership- between 2-20 people'own

person H
3 5 and run business, and share profitand
Sw starties usts wdrormsemoney | Marketing. Students will learn these concepts for 6 weeks. rechonsibilities,

MARKE T franchise — licence torun a business using
N FedCosts Variable Costs THE WHCLE SELMENTS name of anotherbusiness.

e oty paneciated man The eats Sracty wiated
o

Key SkI”S ) v —— A cost - expenditures in running a business.

o ol

SOLE PROPIETORSHIP

Little to no restrictions

No sddRional federal taxes Unlimited Kability Fixed Costs vs. Variable Costs ¥

. . sl : segmentation- dividing customers into
Team working — work in teams, shares Suester m Srrest S e \ \ /£

ideas and boost interpersonal skill. i o / grorps due tt.)thelrb.uymg hab'tc"
Analytical skill - compare ideas from = (B - X s /] /| | 3 Pricing —settinga price'on a product.
both sides and use personal opinion to -

provide constructive criticism. posaor " e

IT skill - using MS word office to report Assessments / 7

on the findings from research note- Proius Pricing

taking. Assessment is based on class work and homework whichis

Research skill - making research and  issued tostudents once every 2 weeks. - =y

provide findings from research

Benefits of Franchise

Fremational Pricing
« Increased the name recognitions

« Increased the advertising and market budge!

* Minimum risk

* Advertising and promotion .
« Better performance . 2 =

Support/challenges
e Differentiated tasks, homework

= look(‘_v!say ";cover Vrite ééheck






TERM 2

Victorian Literature Knowledge Organiser

‘ictoria was Queen from 20™ June 1837 until 22 January 1901. Her reign lasted 63 years and 7
months. She is the second longest serving Queen. Queen Elizabeth Il is the first. Many well know
novels were written at this time, such as Charles Dickens' "Oliver Twist'.

The Victorian era refers to rule of Queen Victaria in England. \We also refer to the Victorian era as
the 19" century. If you study 19°" century literature, it was written from 1800-1853.

Queen Victoria was married to Prince Albert.

The Victorian era was a time just after the Industrial revolution, where people moved from rural

7
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R3 Evaluate

Terminology

Link to the question

Short sharp quotation

Structure key terms:

Dialogue:

Speech between characters.

Focus shifts:

Using paragraphs to zoom in and out and highlight an event or
characters’ importance to the story.

Minor sentences:

One word used for emphasis.

Main clause/simple sentence:

Usually used to keep information clear or as a series to build
pace and tension.

Compound and complex sentences:

Linked clauses used to provide detail.

Single line paragraphs:

To emphasise an important point.

Flashback/flash forward:

Not using a chronological structure.

Cyclical structure:

The ending links to the beginning.

Exposition:

The opening descriptions of setting, time and character.
Genre:

Indicating the type of narrative through the use of common
motifs.

communities to big cities such as London to find work. Meqnmgs
Famous Writers and Ideas
o o o _ Zoom
He was a Victorian writer who He was a very famous Victoriam writer and Scientist who studied
Thamas believed that the rich should not Ehaﬂes evolution. He wrote the book ‘On the Origin of Species,” which
M Ith help the poar. arwin challenged many traditional ideas. Effect and writer's
althus . .
perspectives and views
R9
He wrote many Victorian novels She wrote the famous novel ‘North and South” which is often
including * Oliver Twist" and ‘A called a social problem novel. Characters such as John Barton
h I Christmas Carol.” His novels often in this novel criticised the attitudes of the rich towards the
Charles |, . Mary Hetsed the
illustrated the harsh social poor. The working conditions for the poor are shown to be
Dickens conditions experienced by the Ga ske II terrible.
poor at the time, critiquing the
attitudes of the rich.
Mary Prince was an abaolitionist Mﬂw hary Shelley was a famous female writer. She wrote Frankenstein,
wirriter. She was a former slave Shel a novel about a scientist who tried to create human life.
Marv who wrote about her b_‘f
H EXpPETIENCES. ) ¢
Prince i freytag’s pyramid
Key ideas linked to the workhouse
Th The workhouse was a desperate This was a time consuming task given to the poor in the falling action
w2 place, where people went if they PICklng workhouse.
Workhouse| hzd no ather choice. Peaple were ising action
P ]
offered a poor standard of food and Oakum prev
accommadation in return for work.
/
The board This board of rich adults met at the Gl'l..lEl Gruel is 3 thin porridge made from oats and water served in the —(/indu@incidm(
workhouse . They were well known workhouse. Oliver Twist eats gruel in the waorkhouse. Lxposition
for their lack of compassion. D ———w—

Language key terms:

Figurative language:

The use of metaphors, similes and personification to establish
mood, atmosphere or character.

Mood:

Influencing how the reader feels when reading the text.

Pathetic fallacy:

Using the weather and setting to help establish or suggest a mood.
Juxtaposition:

Creating a contrast between two characters, settings or images.
Evocative vocabulary:

Words which are chosen to have a specific emotional effect on the
reader.

Personification:

The attribution of a human characteristic to something non
human.

Onomatopoeia:

Using words which sound like the event they describe — ‘smash’ or
‘clash’.

Sensory language:

Appealing to the five senses within description.

Sibilance:

Using repeated ‘s’ sounds to either create a soothing or
threatening tone
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Key Terms

Suburbs

Urban Model

Public Transport

A zone of housing around the edge of a city.

A simple pattern to show the usual land use
in a city.

Transport provided for the general public to
share such as buses and trains.

Settlement A place where people live or work.

Inner City An area of old factories and housing near to
the city centre. It may be redeveloped.

Function The main purpose of a town or parts of a
town, such as residential, industrial,
commercial or recreational.

High and Low Items sold in a shop which cost a lot and are

Order Goods sold in small volumes (eg wedding ring) or
are of low value and sold in large number
(eg loaf of bread).

Accessibility How easy a place is to get to.

Central Business
District (CBD)

Suburbanised
Village

The middle of a town or city where most
shops and offices are found.

A small rural settlement that has had many
new buildings added.

Hierarchy A ranked list of settlements in order of
importance or size.

Site The physical location of a town or city.

Situation The location of a town or city in relation to
its surroundings.

Pattern The physical layout of a settlement such as

linear, nucleated or dispersed.

Geography - Year 9 Term 2 - Settlement

lerense i sice of seltlemeant, Conurtation
Togher Sropiaation snd
T e SR uines
' = t
Large town
Decraane n
frequency
Small fown

PROBLEMS IN THE INNER CITY

Social / housing:

Racial tension (large presence

of immigrants) Pensioners (former workers)

Vandalism and crime Poor quality of housing

Lower standards of life (health problems) Few ammenities

and services
Economical:

Most of factories have been closed - Lack of jobs
= Unemployment - Low incomes = Poverty

Environmental: Problems of waste collection
Noise and air pollution due to the Lack of parks and
traffic derelict buildings

B mlns linear
&1 th i

dispersed
oW

BURGESS
MODEL

4 Sa

3

HOYT
MODEL

Central Busness District
(CBD)
2 | Faciories! Industry

3 | Working Class Housing ﬂ“
4 | Middle Class Housing g’

5 a Commuter Zone
b High Class Housing







Year 9 history knowledge organiser term 2: Why did a murder

lead to war in 1914>?

Alliance

Imperialism

Nationalism

Militarism

A group of countries that
are formally united or
working together for a
similar aim or common
purpose.

Extending a country’s
influence by building a large
overseas empire—usually
using military force

A feeling of being superior
to other countries and
following your own
national interest above all
else.

The belief that a country
should keep a strong
military and be prepared to
use it to defend national
interests

The relationship had been
tense between many
European countries in the
years before. Most had not
forgiven each other for past
rivalries, as they looked to
become more powerful than
their neighbours. In fact, the
killing of Archduke Franz
Ferdinand may have been
the tipping point towards a
war that had been brewing
for years.

Trench

No man’s land

Artillery

Frontline

Long narrow ditch in the
ground, protecting
soldiers from enemy
gunfire.

Area separating opposing
armies in trench warfare

Large transportable guns.

The forefront line of
defence.







YERR 4 — REASONING WITH ALGESRA. ..
Forming and Solving Equations

@whisto_maths

| What do | need to be able
| t0d07

| By the end of this unit you should be. able to:
| = Sole inequaities with negative numbers

| * Sobe equations with unknowns on both sides
|+ Solve inequalties with unknowns on both

I sides
I

|

I

|
I
Inequaity: an inequality compares who vales showing if one is greater than, less than or :
equal to another I
Variable: a quartity that may change within the context of the probem |
Rearrange: Change the order :
Inverse operation: the operation that reverses the action I
Substitute: replace. a variable with a numerical value :

I

Substitute into formulge and equations
Solve: find a numerical value that satisfies an equation

Rearrange. formulae

—— e d e e e
r——---------=-=-=—-=-=- b | r ____________________________
| Soke equatiors vith brackets @ | Form and sobe nequaities @ |1 nequalties vith neatives |
I i
: 204 | a4 | x4 3(2x+4)- 30 :| .@ I: Method | Make x posttive first :
30 R 46 number is greater than |1
a LS S - | ind the possible range of values * *
I 30 - bx + 12=30 I I - :I 2 N l7 + 3y e ) :
| T = -2 -2 || A+ 2>l II 7o XS rueorhangvae |
| 30 = I Solve | | 55 3 smler than -5 |
: x|x|,|x|x|x. bx =18 :I X = -3 4— ) — || |: =3 +3 I
18 -6 -0 x- I I D> |
| I x>3 1 CHECKTL |,
L O IR ol Saler Bigger 2-3-6) - 20 |
I R T T [ i+
 Equations with unknown on both sides :' nequolties vith urknown on both sides | b 13 TRUE/ CORRECT |
I | Soling inequaities has the same method ds li
I I
: W53 2 ST I! equations “ Method 2 Feep the negtive x I
| -2x -3x x| x[x 24 |i 5(x+4)<3(x+2) Check i 1 2__‘3)( > Z x s true for any vabe :
| y+5-24 T 5 :| Bx+20<3x + 6 ' ] _3 s bigger than -5 |
I 5 = | 22046 p(-6+4)<3(-5+2 Il 7775 |
| I <-4 5(-4)<3(-6) I . This cannot be
box-n ' :I x<-1 205 1 X232 : :
X<-1( U< . rne...
e e N |
= = -~ T T T T T T T T T T T T T T T T T _
| Formule and Equations ~ Substitute in wies I x <D Kﬁg;?ﬁ;‘;guﬁfgﬁﬁgﬁz |
|L Formulae — all expressed in symboks Equations — include numbers and can be solved | ! inequalty :
________________________________ I ——— e —_————
S — _ __________________ - I _______________________ =
: Rearranding Formule (one step) : | Rearrandging Formulae (two step)
I an equation (find x) In & formula (make x the subject)
‘ ue 4-3-9 Wy-s=a
y | Rearrange. to moke y the subject 3 43 - f
y=x-e 4- 2 o0y
+4 +4
- X=a*s
y—>*z2—>X Using inverse operations or fact x=3 y

Yye— -z «— X

I

The steps are the same for solving and rearranging

Rearranging can akso be checked by substitution

Language of rearranging. .. Rearranging s often needed when using y = mx + ¢

eg Find the gradent of the Ine Ay -4x - 4

|
|
|
|
|
|
|
: famiies wil guide. you through
|
|
|
|
|
: Make y the subject first = 4x + 9

I
l
l
7
1
1
I
I \
rearranging formulae I I
I
I
I
I
I
I
I
I
I
I
g
I

I

I

I

I

I

I

I

I

I

J |
I

I

I

I

I

I

Gradent = 4= 2 |
4 I



YEAR 9 — REPRESENTATIONS. ..
Olgebraic Representation

T T L7 1
| What do [ needto be able |1 Feuwords |
| to do? I |
: —_— I : Quadratic: a curved graph with the highest power being 2 Square power |
| By the end of this urit you shouid be able to: : | lnequalty: makes g non equal comparison belween two numbers |
| * Draw quadratic graphs (| Reciprocal: a reciprocal is 1 diided by the number [
|+ nterprel quadralic graphs | : Cubic: a curved graph with the highest power being 3. Cubic power :
: *  Interpret other graphs including reciprocas | I 0 rign the coordndte (0, 0) |
«  Represent inequalties | o
I 1 Parabola: 6 V" shaped curve that has mirror symmetry I
| __ o _____
rrEeeee——mmmmm—-:-————_—-—-—_—_—__—_———— |
| Quadratic Graphs !
Substitute the. x values into the equation of your Ine to find the y coordinates |
| | y=x2+4x+3 | } 7™\ I
: / ; x | -4 / —?\ 2 -1 0 1 :
| : y 3 \ 0 } -1 0 3 8 |
| If x%s the highest power in your equation ) Intersection with \_/ |
I then you have a quadratic araph the y axs
I ’ / | Coordinate pairs for plotting (—3, 0) :
| | j
| It wil have @ parabola shape NI Plot. dll of the coordinate pairs and join the. points with a curve (freehand) :
: —— Quadratic graphs are aiays symmetrical with the turming point in the middle I
I
L I
- - - - - - """ ">">">""">”"”"»”"/"”"/\"/"¥"/"¥/r /T T T T T I
: Interpret other graphs Reciprocal Graphs Exponential Graphs :
Cubie Graphs
st
1 I
Il y=x3+2x2-2x+1 ] y=— |
I x I
: 7 If 23is the highest power in your equation I
I o then you have a cuble araph :
I j Exponential I
: , graphs have a I
I Reciprocal graphs never touch I I povier of x :
| the y axis I
| - This 1s because x cannot be 0 |
: -2 This is an asymptote I
_______________________________________________ I
L, e e e e !
| Represent Inequalties ) . The sold Ine shows that the inequalty includes |
| ¢ | the points on this Ine :
| Muttipk methods of representing inequaities *]
| ot [ y=2x+1 | :
I x <4 T I
I “ I
I 0l valves are less than 4 f ! % 5 I
| ; Fany 1
I P O _ A = 2 5 I
o _1 -
I 0 1 2 3 4 5 [¢] o I
| —+——F+—F+—+— \ :
I The shaded area indicates al I
| The dotted lne shows that the inequaity does not possble sobtions to ths nequality |
: The shaded area indicates all possible values of x include. these. points |



YEAR 9 — REPRESENTATIONS,

@whisto_maths

What do | need to be able
to do?

Probabiity

Probabity: the chance that something wil happen
Relative Frequency: how often something happens dvided by the. outcomes

|

I

I

I

By the end of this unit you should be abke to: :
Independent: an evert that is not effected by any other events |
I

I

I

I

I

Find single event probabiity

*  Find relative frequency

*  Find expected outcomes

*  Find independent events

*  Use diagrams to work out probabilties

Charce: the ikelhood of a particular outcome.
Event: the outcome of a probabilty — a set of possible outcomes

I

I

I

I

I

I

| -
I

I

I

I Biased: a built in error that makes all values wrong by a certain amount.
I

- - - - ___ l
: The probability scake ol | Single. event probubilty o Relative Frequency :
| I I | | | ‘ Probabilty s alwaus a valse between 0 and | ‘ : I Frequency of event |
| Impossble Even charce Certan |1 L I Total b fout |
| Oor07 05, X or 507 tor 1007 || —, e probabilly of gelling a ble bl s = I} OE IONNIYE! O ONISOINES |
| 2 I o O =~ Tre probabilty of NOT getting a bloe ball IS « | |
| > 1 L . : | Remember to caculate or idertify the overal |
| v e = Tramoltte poimitess1 | et edeors |
I oo = (1. vil have a probabxlltg closer to | [ : : Colowr Frequency Relative |1
| | The table shows the probubity of selecting a type of chocolite |
&Y e T T -
I I I Green b 03 |
| Thereare 2 ' ' | | 015 035 [ I
| prkandd There are 5 possibl outcomes [ Yelow 12 06 |
I yelow bals, so So 5 intervals on this scake, each [l Plihite chocolate) = | — 0.5 — 035 [ |
they have the interval valoe is % 1 -05 I Blue 2 0l |
wsaneprobabily S I |
r--———""-——--""""-—"-—"-"-"-"-"-"-"-"---=-=-="-"-"-" 1| 20 |
I Expected outcomes Expected outcomes are estimations It is a long term average rather than a :I I
| prediction I: Relative frequency can be used to find expected :
| I outcomes |
: Dark Milk White SQ:SXP@(WW i corried out 400 ” e ke the relative probability to find the :
ted outcome f f th
I 015 035 0.5 Show that dark chocolate is expected ] Tg%ezezcg (L))niome Or green i there are |
I l , to be selected 60 times :I |
I ' I I
| The sum of the probabilties is 1 0.15 x 400 =60 || Relative frequency x Number of Umes I
| It 0.3 x 100 = 30 I
- - - - - - - - - - - s T T T T T i ____________________:::::]
Independent events || sing didarams  kecap Vern dagrams, Sample space diagrams and Two-way OI
v 1 I
The roling of one dice has no impact on the 1 bar Bus Wak | Tota
“ roling of the other. The indvidual probabilties I : Bous 5 24 14 53
) I
should be calculdted separately 1 ort o 2 2 47
: : Toa | ai 4 | 3 100

— g The possible outcomes from roling a dice
Ve e P(5) P(R) = - I § 8 ' : -
v |: 33 1234 ]s]s
QD =
Find the. probabilty 1.1 1 :, & (| H | W |ar |30 |40 ] oH oA
of getting a 5 and P(SandR) = —x-= - S
9 6 4 24 I o8& || 1| mlar|ar|ar|or|er
a red [l =



YEAR 9 — REASONING WITH GEOMETRY...
Enlaraement Slmllantg

@whisto maths

—— — — — — — — — — — — — —

I What do | need to be able

| to do?

|

I

I

By the end of this unit you should be able to: |
Recognise enlargement and simiarity |
Enlarge. a shape by a positive SF [
Enlarge a shape from a point I
Enlarge a shape by a fractional SF :
Work out missing sides and angles in a |
pair of similar shapes |
|

Similar Shapes: shapes of different sizes that have corresponding sides in equal proportion

Scae Factor: the muttiple describing how much a shape. has been enlarged

Enlarge: to change the size of a shape (enlargement is not always making a shape. bigger)
Corresponding: objects (or sides) that appear in the same place. in two similar situations
Image: the picture or visual represerttation of the shape

-
I
I
I
I
I
: and identical corresponding angles
I
I
I
I
I
I

: Recoanise enlargement & similority Eﬂlﬁmﬁ a shape. from a point :
: Shapes are simiar f al pairs of corresponding sides are in the same ratio | [ Scled dstances method ] [ Rays method ] :
| These shapes are smiar because dl : | |
| sides are ncreased by the same ratio | I o
' i |
I . | |
|
I Enlargements are similar shapes with a ratio other than | | I 1. T~ ]
| o oo f | Ny
________________________ '| | | v
I Enlarae by a posttive scale factor I | |
- |1 Scake the distance between the point of Muttiply the distance from the centre of |
[ With a scale factor larger than | it makes the shape bigger ] 1| entaraement and each correspondng corresponding verties by the scale |
™ I : vertices factor dong the ray I
L I
il 1 | Cakeulations in simiar shapes
v

A
\ 4

Don't forget that properties of shapes don't change with enlargements or n ]
Imigr shapes

A
\ 4

the original length

IrPosItIve fractional scale factor

I
|[ With a scake factor between O and | it makes the shape smaler ]

|
]
]

|
| T
I Seate Factor of = g | !
| g 5 S |
| w —> - I
| = 24 cm ||
| cm ||
| |
5 g |
: § Scake Factor of > ; I
| ™ 1
| |
| 10 cm 25cm h

The two trapezium are similar find the missing side and angle

Enlarged by Scale §
Factor 3 ‘\'
Every side is 3 times o~ 6 >

feo

12 cm

Correspondng sides idertify 12 )
the scale factor = 2 Scake Factor = 2

Cakulate the missingside  Length (corresponding side) x scaie factor

2cm X 2
x =4cm

Enlargement does not change dngle size

Calulate the missing ange  Corresponding angles remain the same
130°




VEAR 9 — REASONING WITH GEOMETRY...

@whisto_maths

I ______________ m-T-—-— - - - - - _ - _ - _—_-_—_-_—_-—_—_-—_—_-—_——————— -

I What do | need to be able

Rotation & Trarslation

| to do?

: Bg the end of this unit you should be able to:
I Identify the order of rotational symmetry
| « Rotate a shape about a point on the

| shape

|« Rotate a shape dbout a port not on a

l shape

: *  Trarslate by a gen vector

| Compare. rotations and reflections

Rotate: a rotation is a circular movement

Symmetry: when two or more parts are identical after a transformation
Regular: a regular shape has angles and sides of equal lengths
Invariant: a point that does not move after a transformation

Vertex: a point two edges meet

Horizontal: from side to side

Vertical: from up to down

I_ ______________ —_—— e —— — —
. - - T T T T == -
I Rotational Symmetry T’%&‘igﬁfﬂ J‘;m‘%k 11 Translation and vector notation :
: : : : How far left or right to move |
| Trace your shape (mark Neggtive valve (eft) |
: the centre, port) | : Vector | ( 1 )4/ Posttive valve (right) |
| : | Notation -2 |
I A Rotate your tracing I o far wp or domn tomove. |
| paper on top of the il Neggtive valve (down) |
I original through 360° I (=3 Posttive value (up) :
: y y ) 3 Count the times it fits : : m; o ( 3 ) I
I back into itseff i I
' il |
| ¥ O regular pentagon has rotational symmetry of order 5 | | :
- - 11 |
- T T T T T T ||
: Rotate from a point (in a shape) | : Buery gﬁz *S’ﬂjrgmsm“ :
|
L g — | Trace the original shape | / :
| shape (mark the point of rotation) I : o |
|
| 2 teep the port in the same : I shape |
I ;,t 1 place and tum the tracing | I I
P - e e e e o o . . —— — —— — —— — — — — — — — — — — — — —
| ot - 1 Compare rotations and reflections
: Point of - 5 4,'- 3. Draw the new shape | : 4
| rolation 1 7 : I o Refl Iecgi?\s are. a r'n\rg mage
\ ' ' of the original shape
' &) e o
: Image. 90° I : ) _| ol T
cbckWBe Clockwise Onti-Clockwise I I 1 ntormation neeaed 1o periorm a
- - - __ I A reflection
- T T T T T T [ - Line of reflection (Mrror ine)
: Rotate from a point (outside a shape) 1
I
| Image: 90° arti - clockwise I
| . I
I Pont of _fﬂL | Trace the original shape | : — Rotations are the movement of a shape in a
I rotgtion & (mark the point of rotation) I /\ circular motion
| \f |1
| é\li‘ 1 2 teep the pornt inthe same. | | Aﬁ J
I N\ = e, and tum the,tracng 1 et N Information needed to perform a rotation
| o Y paper [ B - Point of rotation
I Ll_,A ST — I 11 - Direction of rotation
: L e new shape [ - Degrees of rotation
Original [
| shape [
- - -



YERR 10— PROPORTION,

@whlsto maths

| What do | need to be abk to do?

Probabilty

| Bg the end of this unit you should be able to:
Odd, Subtract and muttiply fractions
*  Find probabilties using lkely outcomes

Event: one or more outcomes from an experimertt
QOutcome: the result of an experment
Intersection: elemerts (parts) that are. common to both sets

* ke probabity that sums to |

*  Estimate probabilties

Use Venn diagrams and frequency trees

»  Use sample space diagrams

* Cakulate probabiity for independent events
» ke tree dagrams

Expected Vabse: the value/ outcome that a predction would suggest you will get
Universal Set: the set that has al the elements
Systematic: ordering values or outcomes with a strategy and sequence

| |
| |
| |
| |
| |
| |
: Union: the. combination of elements in two sets :
| |
| |
: Product: the answer when two or more values are multiplied together :
| |

—_——— e e e e —— ]

L __ e |
™ e e e — — — — i ———— e, e, e, e, e, e, e, e e e e e e 'I
: Odd, Subtract and muttiply fractions o ! leeliness of a probahlltu |
| (ddtion and Subtraction Muttiveation | I | | I I
| 4 2 3 2 I : Impossible Eveg chance Certain :
- —— ey Ve 2 p /
I 573 FREA I Qor0 05,5 or 507 R lor 1007
| m 3.2 6 ' I ™ b e, further up th be :
_ The more lkely an event the further up the probabity it wil be in comparison to
| 4— 3— = E : | another event (it wil have a probabilty closer to 1) |
| 12 10 2 e e e e e
= 15 = 1c Modeled! |
I l15—15] 15 SUm tO I Probabilty s alays a valve between 0 and | I
| 3 Total number of |
| Use equivalent fractions to parts in the diagram The probabilty of getting a blue ball s % |
| find a common mutiple for = The probabitty of NOT getting a bhe bal s g |
| both denominators L ) |
| 4 The sum of the probabilties is | |
| Experimental data I! Tables, Vern diaarams, Frequency trees l
| > Frequency trees and two- I
: Treorelicd | o exect Lo hapren The more trigk that are | Frequency trees @ iy taes can shon the. |
probabilty completed the closer | 60 peopk vsited the z00 ore Salurday morrr § & sane nformaten |
I expeﬂmeﬁ’[m p(obabmtg I 26 of them were adults 13 of the adult's I
Experimental | What actualy happens when we |7 favourte anmal was an ekephant 24 of the
|| &P and theoretical I , »
babilt ‘Lrg it out | children’s favourtte animal was an elephant The total cobmns on two- |
| probapiily probabilty become | vy lobkes shor the. |
I The probabilty becomes more accurate with more triak : | Lo ok posst deromralors
L Theoretical probubilty is proportional | : Okt | Chd | Totd Ploat) - 22 |
I_::::::::::::::::::::::I Eephant 3 24 37 |
Samgle SPACE The possble outcomes from roling a dee I PlChkdwth f“"ou”tem I
| ; L | | Other 13 10 23 animal as elphant) = > |
| I
| £ 5 123 4|5]6 PlEwen = 3 : | Ll 40 34 60 :
s numper and T
: %é g H IH JH | 3H | 4H | OH oA toles) I;l : : \ern digaram :
S g Tl M {ar|ar]4r| 57| 6l &[a B Ea—— 8 A
e ' @ @ O !
r—_————————— - —————— | I
Iﬂdepe,ﬂd(’,ﬂt (’,Vé’,ﬂts : : nset A OND set B inset A OR set B nset A NOT inset A :
The outcome of two events happening The P (Aand B) | P@NB) P(AUB) P(4) P (&) I
outcome of the first event has no bedring on the P (A)x P (B) I__________________________________________________.I
outcome of the other = X
Tree. digayam for independert. evert | TDCzendept deveg\tts The outcome of the first event has an impact on the
sobel has a bag with 3 ble counters and 2 yelow She picks a counter and replaces it before the second pick | (eet lgeyom Tor dependen second event
event

I

I

I

I

I

I

I Because they are repmw the second pick has the same probabilty

! o
I
I
I
I
I
I
|

O sock drawer has 5 black and 4 white socks, Jamie picks 2 socks from the draer
<’ s
— 5.4 _ 20
E;_ P (BW) *s T 72

g }—P(WB) Eon

5outof53a(eb\ue =P (BB) %xizi II Pk first sock
- o < . I
mbw =P (BY) 55 " 5
2< =P(YB) %i== |
AN < T
=P (YY) *=a I

( Velow )

l
\

@
N
@

I

I

I

I

NOTE: s “socks” are removed I
from the drawer the number I
I

I

I

I

I

I/ \ool &

of tems n that drawer s also
reduced - the
denominator is ako
reduced for the second
pick

TE -

Sum of probabities
Sum of probabilties




YEAR 7 — FRACTIONAL THINKING

I Oddition and subtraction of fractions

______________ [ —————

| : Keywords '

I Numerator : the number above. the. Ine on a fraction The top number Represents how many parts are taken

| Denominator: the number bebow the. Ine. on a fraction The. rumber represert the total number of parts
Equivalent: of equal vale

: Mixed numbers: a number with an integer and a proper fraction

I Improper fractions: a fraction with a bigger numerator than denominator

| Substitute: replace. a variable with a numerical valve

I

|

|

I

I

| By the end of this unit you should be able to:

| ¢ Convert between mixed numbers and fractions
|+ 0dd/Subtract unt fractions (same denominator)
|+ Odd/Subtract fractions (same denominator)

|+ Odd/Subtract fractions from integers
I .
I .
I .
I

I

0dd/Subtract any fractions
Odd/Subtract improper fractions and mixed
numbers

*  Use fractions in dlgebraic contexts

Place. value: the value of a digit depending on its place. in a number I our decimal number system, each place. is

I
|
I

Use equivalent fractions :
I
| 1 10 times bigger than the place to its right
|

denominators

______________ A e —_—— a1
Y A S e P R S
: Representing Fractions : | Mixed numbers and fractions :: Odd/Subtract unit fractions  Sae denomiter :
| = Improper fraction | 2
| Iy CTTTTTT] pro |1, 1 1 =2
,& ; ! )+~ I -5
2

| is represented in I | 0 ' 2 s |I M 2 :
: dl the images : ] S 1z Mednmber |: —+= 4 = < |
| | I hths model 5 / - I 0 L I
| |_ : _|_|_| 1+4 I : parts moke up a b@r;ecrtﬁ?agncjr\lﬁh || With the same denominator ONLY the rumerator is added |
| ° 1 I L whole I or subtracted I
____________ - ) =
r-——- "~~~ == W, T T T T T T T 1= T, T -
| Odd/ Subtract fractions ame cenomntr | | Olddl/Subtract from integers || Equivdent fractions  turecterons |
I | | | I the same muttipler I
2 3 5 4 | Y |
:;+;- T ] |=; H 1-% LTI =5 :| 2 — 4 |
I Sequences [l I 3 6 |
I o _21 I
: N ;:11121 2_13?' ”3"‘1 :::" l | _3g :I i ‘ ‘ “ |
(1) 6 I v |

| R | |
| /1y ‘\g‘ \Zf U Representths ona | | The denominator indcates the number I - {‘ [ T T[] |
| W3/ N3/ + S+ number ne to help [ of parts a whole s made up of I | 373 |
i: e e el el ey et e = _l—_—_—_—_—_—_—_—_—_—_—_—_—_JI
1 Odd/Subtraction fractions (common muttipks) | : Od/Subtraction any fractions |
| 3,7 Oddtion/Subtraction needs a common denominator I | 4 2 I e \ I ] -2 |
| =+ II T 73 T~ OO T T 15 I
I (ITTTTTTTITTITITT] I 12 10 I
I % 1_'7() é T T T T T T T .l‘ T T T T T T T T ; I : E 15 I
I L ] | I [ | |
| % : | Use. equivalent fractions to find a common muttiple for both denominators |
I I |
e — — — — — — — — — — — — — — — — — — — ] —————————————————————————— —
. T T T T T T T e i ot o |
| 0dd/Subtraction fractions (improper and mixed) : : Eractions in algebraic contexts p=5m=2 |
I _5_ 5 _ I
| 2z -1= | : k=3=2 e g+ Lo
| I I N VA VA VA VA VA VAV AV AVAV A/ AVAVA IQanerseoemUons m |
| , ) A A A A A A A A A A A | : PPy p Form expressions with fractions Substitution |

— 7 7 5 1
| 10 ¢ w 2 | k-2+2 b+-—>»b+= 2,2 I
I I 8 9 9 3 2
:C 22 13 _ i * Convert to an improper fraction e - - - - _ - _!
10 10 - * Calulate with common denominator T
| 10 | Fractions and decimals |
| Partitioning method : 1—60 +0.3 0.6 +0.3 :
I

[ 21 13 -92 13 _,2 __3_12_3_2 : 6 3 : Remember to use equudert |
| 75 10 10 10 10 10 10 10 10 TORET) fractions and common |
| l |
| l |




YEAR 7 — APPLICATION OF NUMBER

Fractions and percentages ot amounts

@whisto_maths

By the end of this unit you should be abke. to:

Find a fraction of a gven amount

Fraction: how many parts of a whole we. have
Equivalent: of equal valve

|
| I

| I

| H

| - H

| = Use agven fraction to find the whole or other Ll \Whole: 6 number with o fractional or decimal part
| fractions I

| I

| I

| H

| H

| H

. Endihe e, of ‘ tl Percertage: parts per 100 (uses the / symbol)
”Etho & percentage of an gmount Using merta Place. Valve: the value. of a digit depending on its place. in a number In our decimal number system, each place. is
*  Find the percentage of a guen amount using a 10"tmes bigger than the place 1o ts right

caulator Convert: change into an equivdlent representation, often fraction to decimal to a percentage cycle
| Froctlon of a glen amount The bar represents the whole amourt q‘O :
: Find 2 2 of £205 e / E E :
| , A \ 5 | ® o Use bar modeks for comparisons I
3 - .~ O 1 ' ' " 1oha0- 30 |
: [ \ 45 3 |

2 ot of the 5 equdl part 2 g |
: O;i£4e\=2§ia s £200 + 5 - £4 300 40-30 |
I T Each part of the bar model represents £4 1 ‘ %o{ Q0N = g of 45 :
oy e e ey

- |
: Use a fr’ol‘,thH of amount The wording of the question is importarit to setting up the bar model I
| g of avalue s 70 What is the whole number? 70+~ 2-=3p 63 :
| ~ 70 «— Cachpartof the bor Fnd the whoe, |
: , model represents 35 2ofanmbers 63 | 4 ENENE ,‘ v |
T \ 35 \ % | ) :
I ' Y J What lS = of the numbeﬁ 81 Use the
| 3545 105 \ whole to :
) - 4]14 14 a4 [14 find a guen

: The whole number is 105 14 ‘ ‘ ‘ ‘ ‘ ‘ ‘ v part |
_______________________________________________ I

Method 2
8]6[8]8[8)8)8|8]8]8 05/ =50/ + 10/ +5/

40+ 8+4
For bigger percentages it is sometimes edsier to take aiay from
=52
1007
-

— e — — — — — — — e ] e e

[ “of” can represent X in cakulator methods }

[
| ] |
I I I
| The whole represerts 100/ 1 I Using a multipler |
l ) l \O/=Eofthewhoka| | I
: K [ Eind 65/ of &0 Fraction, dwma | percentage converson |
| : : @ <«— Tre muttipler |
b } } t ' > |
: 0% 20% 40% 60% 80% 100% : | [ 0@5 X 80 = 2 |
| I

| |
L .5 .1 I |
: 07 m of the whole 507 0 3 of the whole I |
| : | Using the percent button This brings up the 7 button on screen |
| | 207 = =2 of the whok 5/ =~ of the ok | : Fnd 657 of 50 You wil see €5/ :

' |
| I ! Type 65 You can ako use the |
| Find 65/ of 80 Melhod | I : calculator to support non I
) 65/ - (\g/ 2)6 ; 5/ X Press [suF) (O (%) cakuator methods and :

“loxolr find 1/ or 10/ then add

: f : \ =52 : : Press [X] 80 and then press = mpmn?;@eg to@:t%f( I
|
: I |
| L |
I I



YEAR 7 — PLACE VALUE AND PROPORTION. ..

@wnisto_maths

to:

By the end of this unit you should be able

+ Convert fluertly between fractions,
decimals & percertages

Fraction: how many parts of a whole we have
Decimal: a number with a decimal point used to separate ones, tenths, hundredths efe

|1 Percentage: a proportion of a whole represented as a number between 0 and 100

|1 Place valve: the numerical vale that a digit has decided by its posttion in the number

|| Placeholder: a rumber that occupies a position o gve valve
| Interval a range between two rumbers
] Terth: one whole spit into 10 equal parts

1 Hundredth: one whole splt into 100 equal parts

Il Sector: a part of a circle between two radus (often referred to as locking ke a piece of pie)
| Recurring: a decimal that repeats in a given pattem

_______________________________________________ i
= e e ——— —— -I o e e e e e e —— 'I
| |
| Tenths and hundredths o § o o | | On a number fine |
| S One hundredth (one P ® |
| whole spiit into L : I C}) :_'_,: —————— E One whole — splt into 10 equal parts :
| % =\OO eiqualspgrés‘) L : " I one terth - 1—10 =0/ |
I = 100 0 ones, 5 tenth ond 2 hundredths | I |
I o+ox+0|+01+ox+0|+oowoox|:g > One tenth — spit nto 10 equal parts |
I -0+05+002 [} Onehundredth- 1 - 00l I
I — - 052 ! 100 |
| Ore tenth (gue whole spit into 10 equal parts) = 75 = 01 | | |
I_. ________________ _|l_____________ _________________
Fifths Tienty Fundredts Il Percertages on a hundred arid '
I I 6 tenths I
I One Whole = | I 1007 = g whole = 100 hundredths I
I — Oreteth [T : ' 6 tenths and 3\ |
; 7 hundredth
I o r'd ] 7 OLLJ; Orfe IOS hundredths |
I % iAEEEREEN I £ 77 63 hundredths /|
| o s 637 |
8 o =
I Two tenths = one fifth I = S I
I - L I~ — | I
| Ore fifth (one vihoke st into 5 equal parts) = g -02 1] 5 hundreaths |
________________ e — — — — — — — — — — — — — — — — — — — e ]
| T Sroe o | Equivaent froct |
| Quarters .1 Simpe pie charts Il Equvaient troctions |
| One quarter (one whole spit into 4 equal parts) = 7 = 025 I: |: Represent equivalerce vith fraction wals |
| [ Twertty five hundredths I Splt into 10 parts |I 5 |
—T 1
- | = 07 = 36° I _ Whele 7 I
[ One ok One haff |: |: — I £I [ 2 I
| % ; L ( =05 | Spit into 2 parts :| — T L— T - :
S | I - 507 - 180° 1 - B I4 g I‘! |
I I 5 3 5 5
| 0 I s | & [ &[5 | | :
| One quarter = 025 I 0 pe chart has 360 Splt into D parts :| HEEERENEEEEEN :
I S —  sodl FDP cakulations _ ~ 0 — T T
—————————————————— | - A07- 74 | io | 30 |70 |0 | d0 Inlin wlinlm |
| ) : |, areoutof 360 | N N N E O BN ER R
Fractions — on a digaram I | AN NS Y A ES S PR P Y
| :I_ ______________ e e —
I The denominator is re, r s T I
presented by EQUOLLY
| sized parts — this is spit into quarters I COHVCft FDP . |
|__________________|| This also 70 ot of 100 _ 70 hundreaths |
r———— - ————— — = | | IZ)_(()) > mears TP Squres _’ — -707 |
| Fractions — on a number line | 70-100 70 Tundedts |
| | | Using a = 7 "tenths |
| I ° | } One whoe spit nto 18| | caledlator 07 |
: 0 1 e[?)altiwgg it | : M Be careful of recurring decimals |
| Thspont's at the 6" part e deromndtor | O | $=D |Comerttoadecm eg 1 -03333333 [
b is the numerator 6 3 [ | 5 -03 I
| S = — - | | This vl give you the answer \ x 100 converts to g e I
| 13 9 3 [PTp—— The dot dbove the 3 |
L I Il\ Simpest torm pememtag@ 4






TERM 1

* Increases during
exercise to increase i
blood flow

T0 BE ABLE TO TAKE REST, WORKING AND RECOVERY HEART RATES.

T0 UNDERSTAND THE RELATIONSHIP BETWEEN TEST SCORES AND STRENGTHS 45 A
PERFORMER.

— Fit

T0 UNDERSTAND THE ATHLETES THAT WOULD USE DIFFERENT TRAINING METHOD * More' Oxygen to i

AND THE BENEFLTS TO THIS working muscles

A3LE TO COMPARE WA AND OTHEES WORK AND (AN STATE THE DIFFERENCES. Ust _ ! —
THISTHFOEMATION T0 ATTEMPT TO TMBAOVE DN FERORMANCE * Why would this

benefit an athlete?

HEART ( RESILIENCE )

IR Year 9 Fitness

I HAVE SHOWED GOOD RESTLTENCE TN A RANGE OF ATHLETIC ACTIVITLES,
INCLUDING BOTH TRACK AND FIELD EVENTS.

T HAVE SHOWN 600D RESTLIENCE WHEN WORKING INDIVIDUALLY AND A5 IMMEDIATE  LONG-TERM JEFWWeR
single bout of moderate- ular physical activi rovides .

A PART OF A TEAM ACROSS A RANGE OF FELD AND TRACK EVENTS THIS ) _ meenns GG :
T[KM g — f— w §§ w immediate benefits for your health. chronic disease prevention.

25 =
[ HAVE PUSHED MY BODY AND CHALLENGED MYSELF TO TMPROVE ACROSS A —1 5 =
RANGE OF ATHLETIC EVENTS ounes = Lad 255 AT E g0 e L, Brain Health

VITAMIN s ASSESSMENT 3. o —1 EXERCISE = EMY&I“’" Improves sieep qualty eo ‘ % e pelapatd

HANDS wrNUTRITION = TRANSFORMATION <

3 H Health
PUSH BODY TO CHALLENGE PHSTCAL CAPACTTY TN LESSONS ENERGY FOCUS ki Q.
CA RGB IU RESULUTl oN e e . % stroke, and type 2 diabetes
T0 ACCURATELY REPLCATE TESTS FOR HEALTH/SKILL RELATED FLTNESS. RUN SRhcar Bravention

\/\ Lowers risk of eight cancers:

ACTVE & MIOVE SUCCESS 55 MARATHON e

TRAINING == Ghimming
APPLY BASLC PRINCIPLES OF WARM UP AND COOL DOWN, USING EHERCLSES = HEALTHY — § ;"’"‘E"E Blood pressure @ = =
APPROPRIATE FOR THE EVENT § =S mum Q Reduce blod pressre 808 Healthy Welght
TO SUSTAIN PERFORMANCE TN DLFFERENT METHODS OF FITNESS TESTING = e

Emerging research suggests physical activity

@ look g say ’cover ‘write ™ check e =) Bone Strength
( =

acTive®, Balance and
£ 8 Coordination
Reduces risks of falls




T0 UNDERSTAND AND APPRECLATE THE NEED TO MAKE DECISTONS ABOUT
(HOICE OF MOVEMENTS AND REFINING IDEAS WHEN UNSUCCESSFUL.

UNDERSTAND THE PRINCIPLE OF AESTHETICS OF PERFORMANCE AND BODY
ENSTON WHEN PERFORMING TRAMPOLINE ROUTINES.

T0 DEVELOP HOW TO RECOGNIZE GOOD/POOR PERFORMANCE IN
TRAMPOLINE ROUTINES

T0 PLAN A 10 BOUNCE ROUTINE INVOLVING A NUMBER OF DLFFERENT
MOVEMENTS AND (OMBINATIONS,

HEART ( COMMITMENT )

Year 9

T0 BE PREPARED T0 TRY MY BEST TN EVERY LESSON THIS TERM

Trampolining

T0 BE COMMITTED TO TAKING ON BOARD VERBAL FEEDBACK FROM BOTH FRONT STRADDILE

STUDENTS AND TEACHER

T0 BE COMMITTED TO TRYING NEW SKILLS AND (OMMITTED TO
PERFORMING THE BEST ROUTINE POSSIBLE.

HANDS

[ CAN MAINTALN HELGHT AND BALANCE DURING TRAMPOLLNE ROUTINES.

SPOTTER H—\BOO ‘\
DT i ROUTINE
SV N C RO CRADLE VOLUNTARY
TUC TILTTWIST STICK LINEOUT

DOUBLE STR AIGHT TURNTABLE

CAN PERFORM MOVEMENTS WITH EXTENSION OF ARMS AND LEGS
HOWlNG G[}DD B0DY TENSION.

I
§
[ CAN PERFORM A VARIETY OF DLFFERENT LANDINGS WITH SUCCESS
§
l

PIKE CONTACT tumvouer

BARANI S¥40UT

TAYING ON THE CROSS (SEAT, FRONT, BACK LANDINGS) FRONTLANDING

CAN ADD COMBINATION SEQUENCES AND ROTATION INTOD MY
ROUTINES.

“®" look !sag

SOMERSAULT %%{FLF;\\[H;RMSET

cover write ﬁcheck
Jover e @

Bouncing with her "seat’
(a seat drop)

RL_RS

L-shaped body Getting back up on
ok her feet for
position

the next jump

¢ ] ]

Jumping with the legs
(with legs performing positive work)

Key words - Defnitons
The cross =An ' on the centre of the trampoline, This i the part o the trampoline where you bounce, This s the area

0f the trampaline where every mave starts and end perform all <k,
Spotting = standing around the edge ofthe trampolingto stop the performer falling off
Control = Having control when performing shaws you can stay on close tothe cross includ alof the key points or the

skil being performed and polih the peformance by point toes, kesping arms and legs straght fextended) and having
tension in the muscles.

T R A[v\ p O LI N E COMPULSORY  Routing = combinafion of kils performed oe aftertheather o the trampaling connected by a bounce.

P
4 & g 5 "~
L ENVA @
' VLR v 4
DR .
straight Jwwe  © fuck straddle pike
:(_r‘ % f
\f'
A é A
[ S S o=
Seat drop Swivel hips Front drop



TERM 1

IN A GAME SITUATLON [ HAVE A THORQUGH UNDERSTANDING OF TACTLCS
AND TEAM SKLLLS AND [ ARE ABLE TO TAKE CONTROL OF A GAME.

[ CAN CONSISTENTLY COMMUNLCATE EFFECTIVELY WITH A VARLETY OF
DIFFERENT “AUDLENCE' DURING COMPLEX SITUATLONS SHOWING
EXTENSIVE KNOWLEDGE

[ CAN ANALYSE PERFORMANCES. [ CAN IMPLEMENT A VARTETY OF
STRATEGLES FOR IMPROVEMENT

[ CAN REFEREE A GAME APPLYING BASLC RULES AND CONVENTLONS

HEART ( TEAM WORK)

1 HAVE SUCCESSFULLY WORKED HARD IN MY LESSONS WORKING WITH
PEQPLE WHO [ DON'T USUALLY WORK WITH

[ HAVE LED A PART OF A WARM UP AY THE START OF THE LESSON WHLCH MY
TEAM HAS TAKEN PART IN

T HAVE SUCCESSFULLY SET UP A DRILL WITH MY TEAM WHICH WE HAVE USED
WITHIN THE LESSON

[ HAVE TAKEN PART TN VARLOUS ROLES WITHIN A GAME SITUATION TO
BENEFLT MY TEAM

HANDS

T RARELY LOSE POSSESSION TN A GAME STTUATION AND [ HAVE A RANGE OF
SHOOTING SKLLLS EXECUTED WITH A HIGH LEVEL OF TECHNIQUE.

1 CAN SHOOT A LAY-UP WITH BOTH HANDS AND SCORE CONSISTENTLY IN A GAME

I MAKE FEW UNFORCED ERRORS AND SHOW A GDOD LEVEL OF SKILL EVEN UNDER
PRESSURE.

MY VISION 15 600D WITHIN A GAME, T CAN SEE PASSING OPPORTUNITIES AND [
ATTACK EFFECTIVELY.

" look !sag

Name

The Lay-up shot

What to do

|- Take two strides. Jump up, not forward
2. Bring the ball up with two hands 1o the Sou?

shooting posibion
3. Bring your outside knee up

4. Shoot with the outside hand, using the ¢ *
inside arm to prodect the shot ’ “ ’
5. At the height of the jump, shoot the ball . :,?
» softly off the backboard : = ’ 3 » -« B
6. Aim for the 10p comer of the black L) I : f ) Yo, S
vare like a postage stamp - { 1\
|| - . $STVAT) = —
ﬁ /J » » 9o g \ MY A
e a r 7. Fangers fimish pomnting ot target - D » ‘ ,
. " é Y
: Coaching O ; - - = =
| 1s.the performer \. —— v/ [
| \ o \1_‘ | J
| | \
B a S ket b a I I | Taking off with their inside foot? \,\ f H'.*l /'
| - - |
| Bringing their knee up? f \¢” K I" l“‘ /
| FINg \ \ y /
| l’\lll,‘ one hand 1o shoot? :
| T — "
| Hutting the top comer of the square on the backboard? |

| Ex Question ..

’cover ‘write ™ check






PSHE- Knowledge organiser- ¥Y9- Term 2

Created by |e It isinour human nature to love and be loved.

God to love | e Objectification: the action of degrading someone to the status of a

and loved by mere object.

God e We should not always act on our desires, including casual sex,
pornography and masturbation.

e Pornography and masturbation affect the brain, can become addictive
and affect your sexual life.

e Love: anintense feeling of deep affection.

e Lust: strong sexual desire created by a chemical reaction in the brain.

e Confraception: the deliberate use of artificial methods or other
techniques to prevent pregnancy as a consequence of sexual intercourse.

e (Civil marriage: a marriage solemnized as a civil contract without religious
ceremony.

o Civil partnerships: a legally recognized union with rights similar to those
of marriage, created originally for same-sex couples in jurisdictions
where they were not legally allowed to marry.

e Forced marriage: a marriage in which one or more of the parties is
married without their consent or against their will.

e Arranged marriage: a marriage planned and agreed by the families or
guardians of the couple concerned.

e Monogamy: the practice or state of having a sexual relationship with
only one partner.

e For Catholic Christians, the sacrament of marriage is a public sign that
an individual is giving himself or herself fotally to another person.

e Consent is not just gaining permission for something, but choosing to
honour and respect one another as persons with innate dignity.

e Sexting: when you send a sexual message, photo or video to someone
else.

e FGM: female genital mutilation is illegal and has no medical purposes

RSE

Remember!

We will be open and honest, but not discuss directly our own and others personal/ private life.
Your teacher will not repeat what is said in the room except if she/he is concerned we are at risk.
It is ok to disagree but we will not judge.

Taking part is important but we have the right to pass.

We will not make assumptions and we will listen to others’ point of view.

We know that there are no stupid questions but we will use appropriate language.

If we need further help or advice, you know you can talk o your teachers, form tutor and SSOs.







/ KEY WORDS

Conscience: The inner core/voice
telling humans what is good and right
Imago Dei: Made in the Image of God

Theistic: Related to belief in God

Non-Theistic: Related to a belief in an

absence of God
Morality: A system of values. A

distinction between what is right and

wrong
Divine Law: Rules, ways of living
given by God

Free Will: The ability to make our

own choices and act freely.

\

~

/

/ Ethics

Ethics is looking at the moral

decisions.

This term you will look at key ethical
issues within society and how society,
religion and our own moral compass

helps people make decisions.

\_

<

guidance people use before making

/

Christian Ethics

/ Conscience \

The Conscience is described by St
Thomas Aquinas to be the Voice of
God. Catholics see it as a way that
God guides them to help make the
right decisions

However non-religious people
would argue the conscience is part
of our mind and we can use our
conscience and its reasoning to
help make decisions

N /
/ Divine Law \

Divine Law is the guidance given
by God through prophets, Holy
Books and for Christians, Jesus
himself. Theists believe God
gave Divine Law as a way to
guide people to do the right
thing

However some people would
argue that Divine Law is
outdated and cannot be applied

to the Ethical Issues we face
Qday. /

",:t ==

What people use

to make

decisions
Jesus’
teaching
and
example

Conscience

Laws of
Society

Religious
&+ Leaders

- Fides et Ratio”=Faith seeking understanding

-

This are the ethical issues looked at

\

~

Ethical Issues

this unit

Abortion: The termination of a
pregnancy. We explore the
arguments of those who are Pro-
Life or Pro Choice.

IVF: In vitro fertilisation is a
process of fertilisation where an
egg is combined with sperm in
vitro.

Vanity and Faith: We will evaluate
different views on whether plastic
surgery for personal gain is ok

Animal Testing: Students will
debate whether humans are more
important than animal and
whether testing on animals is just.

Immigration: Students will debate

on the topic of people being able
to move around the world freely

/







Science — Year 9 — Term 2 part 1 — Fundamentals of Physics — How things move

Energy Stores and Systems

Energy Stores

kinetic Moving objects have kinetic
energy.

thermal All objects have thermal energy.

chemical Anything that can release energy
during a chemical reaction.

elastic potential Things that are stretched.

gravitational potential Anything that is raised.

electrostatic Charges that attract or repel.

magnetic Magnets that attract or repel.

nuclear The nucleus of an atom releases
energy.

Energy can be transferred in the following ways:

mechanically - when work is done;

electrically - when moving charge does work;

heating - when energy is transferred from a hotter object to a colder
object.

Conduction — when a solid is heated, the particles vibrate and collide
mare, and the energy is transferred.

Convection — when a liguid or a gas is heated, the particles move faster.
This means the liquid or gas becomes less dense. The denser region will
rise above the cooler region. This is a convection current.
Conservation of Energy
Energy can never be created or destroyed, just transferred from cne form
to another. Seme energy is transferred usefully and some energy gets
transferred into the environment. This Fs mostly wasted energy.

Investigating Specific Heat Capacity v e
independent variable - material T‘ = "‘1\

dependent variable - specific heat capacity

control variables - insulating layer, initial temperature, time taken

Reaction time is the time taken for the driver to

respond to a harzard. It varies from 0.25 to 0.9s

When an object is moved by a force, the force
transfers energy to the object. The amount of
energy transferred to the object is the work

done.

Forces either push or pull on an object. This is as a result of its interaction with

another object.
Forces are categorised into two groups:

Contact forces - the objects are touching e.g. friction, air resistance, tension and

contact force.

Non-contact forces - the objects are not touching e.g. gravitational, electrostatic

and magnetic forces.
Forces are calculated by the equation: force (N) = mass (kg) * acceleration (m/s?)

Forces are another example of a vector quantity and so they can also be

represented by an arrow.
A scalar quantity has magnitude only. Examples include temperature or mass.
A vector quantity has both magnitude and direction. Examples include velocity.
Speed is the scalar magnitude of velocity.

A vector quantity can be shown using an arrow. The size of the arrow is relative
to the magnitude of the quantity and the direction shows the associated direction.
Levers can be used to increase the effect of a force applied, acting as a force

multiplier. Some everyday examples include:

spanner wheelbarrow pair of scissors

A force multiplier makes it easier to de work because the same force applied

o g s
30mph B 23m at a greater distance from the pivot increases the moment produced.

Reaction time is affected by: n
v A gear is a wheel which has ‘teeth’ around the circumference.

e o [ D

- drugs 50mph

» alcohol
. R &0mph bE!
. distractons Ce D

You can measure human reaction time in the lab
using simple equipment: a metre ruler and stopwatch
can be used to see how quickly a person reacts
and catches the metre ruler. The data collected is
quantitative and you should collect repeat readings

and calculate an average result.

The teeth of different gears lock
together and the gear can turn on
an axle, turning the other gears it
is connected to. Where the teeth
meet, they must move in the same
direction. This means that the

gears rotate in opposite directions.

If one gear is turning clockwise, Lo
Driver Gear U
(10 teeth) Driven Gear
anticlockwise. (30 teeth)

it will turn the connected gear

ariginat
length

extension.

Hooke's Law describes that
the extension of an elastic
object is proportional to
the force applied to the
object. However, there is a
maximum applied force for
which the extension will still
increase proportionally. If
the limit of proportionality
is exceeded, then the object
becomes permanently
deformed and can no longer

return to its original shape.

Newton's Laws of Motion: Newton's First Law | Newton's Laws of Motion: Newton's Second Law

weight = mass x gravitational field strength (g)

work done = force x distance (along the line of action of the force)

force applied to a spring = spring constant x extension

moment of a force = force x distance (normal to the direction of the force)

force normal to a surface

PTessUre == rea of that surface

distance travelled = speed x time

change in velocity

acceleration = Hretaen

resultant force = mass x acceleration

momentum = mass x velocity

kinetic energy = 0.5 x mass x (speed)2

gravitational potential energy = mass x gravitational field strength (g) x height

_ energy transferred
e time
work done
ower =———
P time

useful output energy transfer
total input energy transfer

efficiency =

useful power output

efficiency =
2 total power input

If the resultant force acting on an object is zero... The acceleration of an object is proportional to the
- a stationary object will remain stationary.

« amoving object will continue at a steady speed and

in the same direction.

100N resistance
(friction and air)

Inertia - the tendency of an object to continue in | on the table. These two forces are equal and opposite.
a state of rest or uniform motion (same speed and

direction).

resultant force acting on it and inversely proportional
to the mass of the object

resultant force (N) = mass (kg) x acceleration (m/s?)

Inertial mass — how difficult it is to change an
objects velocity. 1t is defined as the ratio of force over
100N thrust acceleration.

When two objects interact, the forces acting on one

another are always equal and opposite.

For example, when a book is laid on the table, it
experiences a reaction force from the table. The table
pushes up on the book. The book also pushes down
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part 2 —

Fundamentals of Biology — Building organisms

“

waxy cuticle

palisade layer

gl
il

>

s

e

cell tissue organ organism
Cells are the basic | A group of cells with Anorganisa Organs work together Organ systems work
building blocks of all | a similar structure combination of tissues within an organ together to form whole
living things. and function is called carrying out a specific system. living organisms.

Mouth {Oral cavity)

Tangue

Esaphagus

Liver

Gallbladder

Small intesting
Duodanum
[ Jejunum

Herny

Appandix
Anal canal

Enzyﬁles

An enzyme is a biological ‘

catalyst; enzymes speed up
chemical reactions without

being changed or used up.

a tissue.

function.

Salivary glands
Parotid gland
Sublingual gland ]

Submandibular gland

Pharynx

Stamach

Spleen

Cancer is the result of uncontrolled cell growth and division.

The uncontrolled growth of cells is called a tumour.

Benign Tumour

+ Usually grows slowly.
+ Usually grows within
a membrane and can

be easily removed.

.

Does not normally grow back.

.

Does not spread around the body.

+ Can cause damage to organs

and be life-threatening.

cancerous

.

Usually grows rapidly.

.

Can spread around
the body, via the
bloodstream.

-

Cells can break away and
cause secondary tumours
to grow in other areas of
the body (metastasis).

upper epidermis

spongy mesophyll

H
1

guard cells

Plants absorb water by osmasis through
the root hair cells of the roots. Dissolved
in the water are important minerals for
the plant's growth and development,

which are absorbed by active transport.

The root hair cells are adapted to their

xylem

lower epidermis

stomata

....
%: L

function with the following features:

Finger-like projection in the membrane increases the surface
area available for water and minerals to be absorbed across.

The narrow shape of the projection can squeeze into small

Phloem wvessels transport food such as
dissolved  sugars and  glucose  from
photosynthesis. The food is transported

around the plant to where growth is occurring
(root and shoot tips), as well as to the organs
which store the food. The transport occurs
in all directions throughout the plant.
The cells making up the phloem tube are
living, with small holes in the walls where the

cells are joined.

Pancreas

Ceeum

This happens because the enzyme lowers the activation

energy required for the reaction to occur. Enzymes are made

up of chains of amino acids folded into a globular shape.

Right atrium

O

| vein I artery I

capillary

Large intesting
Transverse colon
Descending colon ] bronchus,

Ascending colon

Sigmaid colon

AV node

Sinus node

Right ventricle

capillary
network

Left atrium

Left ventricle

the distance of the diffusion pathway.

for the active transport of some substances.

alveoli.

Health is the state of being free from illness or disease. It
refers to physical and mental wellbeing.

Disease and lifestyle factors, such as diet, stress, smoking,

alcohol consumption and the use of illegal drugs, can all

impact the health of a person.

Some conditions are associated with certain lifestyle choices:

» Liver conditions are associated with poor diet and prolonged
excessive alcohol consumption.

+ Lung cancer is associated with smoking.

= Memory loss, poor physical health and hygiene are
associated with the use of illegal or recreational drugs.

Obesity and diabetes are associated with poor diet.

» Anxiety and depression are associated with stress and
prolonged excessive alcohol consumption.

spaces between soil particles, bringing it closer and reducing

The cell has many mitochondria, which release energy required

Transpiration is the

Xylem vessels transport water through
the
They are made up of dead, lignified

plant, from roots to leaves
cells, which are joined end to end
with no walls between them, forming
a long central tube down the middle.
The movement of the water, and
dissolved minerals, along the xylem is

in a transpiration stream.

loss of water, by evaporation and diffusion,

from the leaves of the plant. Water is a cohesive molecule and as it evaporates,

there is less water in the leaf, so water from further back moves up to take

its place. This, in turn, draws more water with it. This is the transpiration

stream.

Transpiration occurs naturally as there is a tendeney for water to diffuse

from the leaves (where the concentration is relatively high) to the air around

the plants (where the concentration is relatively low), via the stomata.

Coronary heart disease is a condition resulting from blockages in the

coronary arteries. These are the main arteries which supply blood to the

heart itself and they can become blocked by build-up of fatty deposits.

In the UK and around the world, coronary heart disease is a major cause

of many deaths.

The main symptoms can include chest pain, heart attack or heart failure.

Yet, not all people suffer the same symptoms, if any at all.

Lifestyle factors can increase the risk of a person developing coronary

heart disease.
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